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Question Number : 1 Question Id : 70819115694 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

2
X

The workdone by a gas molecule in an isolated system is given by, W= ;'t-ljzp «kT where x

is the displacement, k is the Boltzmann constant and T is the temperature. a and { are
constants, Then the dimensions of § will be :
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Question Number : 2 Question Id : 70819115695 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Two stars of masses m and 2m at a distance d rotate about their common cenlre of mass in

free space. The period of revolution is :

Options :
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Correct Marks : 4 Wrong Marks : 1
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Question Number : 3 Question Id : 70819115696 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Four identical particles of equal masses 1 kg made to move along the circumference of a
circle of radius T m under the action of their own mutual gravitational attraction. The speed
of each particle will be :

Options :
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Question Number : 3 Question Id : 70819115696 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 4 Question Id : 70819115697 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Moment of inertia (M.L) of four bodies, having same mass and radius, are reported as ;

| = M.L of thin circular ring about its diameter,

[,=M.L of circular disc about an axis perpendicular to disc and going through the centre,
L;=M.L of solid cylinder about its axis and

[;=M.L of solid sphere about its diameter.
Then :
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70819152243.



k3| wn

Lo40;< 141
70819152244, ' 3 ot

70819152245, 1— =<l

70819152246, 1~ =17 1y

Question Number : 4 Question Id : 70819115697 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
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Question Number : 5 Question Id : 70819115698 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Consider two satellites 5, and 5, with periods of revolution 1 hr. and 8 hr. respectively
rmmhmgmmmdaﬂmmﬁndnmbrmMBJﬁemMuﬂmgﬂmvdmﬂyd@MdMo%tnmo
angular velocity of satellite S is :
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Correct Marks : 4 Wrong Marks : 1
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Question Number : 6 Question Id : 70819115699 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

Each side of a box made of metal sheet in cubic shape is “a” at room temperature ‘T’, the
coefficient of linear expansion of the metal sheet is “’. The metal sheet is heated uniformly,
by a small temperature AT, so that its new temperature is T+ AT. Calculate the increase in
the volume of the metal box.
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Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 7 Question Id : 70819115700 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If'Y, K and 7 are the values of Young’s modulus, bulk modulus and modulus of rigidity of
any material respectively. Choose the correct relation for these parameters.

Options :
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Question Number : 7 Question Id : 70819115700 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Question Number : 8 Question Id : 70819115701 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

[f the velocity-time graph has the shape AME, what would be the shape of the corresponding
acceleration-time graph ?
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Question Number : 8 Question Id : 70819115701 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 9 Question Id : 70819115702 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

n mole ofa perfect gas undergoes acyclic process ABCA (see figure) consisting of the following
processes.

A—-B ’ [sothermal expansion at temperature T so that the volume is doubled from
Vl to V2= ZVl and pressure changes from I"l to Pz-

B=C : [sobaric compression at pressure P'2 to initial volume V I

C—=A . [sochoric changc- Ieading_ to dmangr_- of pressure from F'2 to Pl.

Total workdone in the complete C}-‘CIC‘ ABCA is:
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Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 10 Question Id : 70819115703 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Match List I with List 11.

List 1 List 11
(a) Isothermal (i) Pressure constant
(b)  Isochoric (ii) Temperature constant
(c) Adiabatic (iii) Volume constant
(d) Isobaric (iv) Heat content is constant

Choose the correct answer from the options given below :

Options :
70819152267. (@) — (i), (b) — (iii), (c) — (i), (d) — (iv)

70819152268, (@) — (iii), (b) — (i), (c) — (i), (d) — (iv)

20819152269, @ — (1), (b) — (), (c) — (ii), (d) — (i)

70819152270, @) — (i), (b) — (iii), (c) — (iv), (d) — (i)

Question Number : 10 Question Id : 70819115703 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 11 Question Id : 70819115704 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

[n the given figure, a mass M is attached to a horizontal spring which is fixed on one side to
a rigid support. The spring constant of the spring is k. The mass oscillates on a frictionless
surface with time period T and amplitude A. When the mass is in equilibrium position, as

shown in the figure, another mass m is gently fixed upon it. The new amplitude of oscillation
will be :
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Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 12 Question Id : 70819115705 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



A cell E; of emf 6 V and internal resistance 2 (2 is connected with another cell E, of emf 4 V
and internal resistance 8 () (as shown in the figure). The potential difference across points
XandYis:
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Question Number : 12 Question Id : 70819115705 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 13 Question Id : 70819115706 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A current through a wire depends on time as
i=agt+ Bt

where a;=20 A/s and [} =8 As 2. Find the charge crossed through a section of the wire in
15 s.

Options :
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Question Number : 13 Question Id : 70819115706 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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70819152281, 11250 C
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Question Number : 14 Question Id : 70819115707 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Two equal capacitors are first connected in series and then in parallel. The ratio of the
equivalent capacities in the two cases will be :

Options :
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Question Number : 14 Question Id : 70819115707 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 15 Question Id : 70819115708 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A cube of side “a" has point charges +Q located at each of its vertices except at the origin
where the charge is — Q. The electric field at the centre of cube is :
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Question Number : 15 Question Id : 70819115708 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1
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Question Number : 16 Question Id : 70819115709 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

[f an emitter current is changed by 4 mA, the collector current changes by 3.5 mA. The value
of B will be :

Options :
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Question Number : 16 Question Id : 70819115709 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Question Number : 17 Question Id : 70819115710 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



[n the given figure, the energy levels of hydrogen atom have been shown along with some
transitions marked A, B, C, D and E.

The transitions A, B and C respectively represent :

+eV
oo Continuum = g 7
C2 1L =il
n=>s -0 eV
n=4 —0.85eV
n=3 . —151 eV
gl € |p
n=2 : —34eV
A F
n=1 —13.6eV

Options :

The first member of the Lyman series, third member of Balmer series and second member
70819152295, of Paschen series.

The ionization potential of hydrogen, second member of Balmer series and third member
70819152296. of Paschen series.

The series limit of Lyman series, second member of Balmer series and second member
70819152297. of Paschen series.

The series limit of Lyman series, third member of Balmer series and second member of
70819152298, [Paschen series.

Question Number : 17 Question Id : 70819115710 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 18 Question Id : 70819115711 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :
Statement 1 : Two photm\s havi_ng c-qual linear momenta have equal wave[ength&

Statement Il :  If the wavelength of photon is decreased, then the momentum and energy
of a photon will also decrease.

[n the light of the above statements, choose the correct answer from the options given below.
Options :

70819152299, Both Statement I and Statement Il are true

70819152300. Both Statement | and Statement 1l are false



70819152301 Statement 1 is true but Statement 1l is [alse

70819152302 Statement 1 is false but Statement 1l is true

Question Number : 18 Question Id : 70819115711 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 19 Question Id : 70819115712 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The focal length f is related to the radius of curvature r of the spherical convex mirror by :
Options :
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Question Number : 19 Question Id : 70819115712 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 20 Question Id : 70819115713 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In a Young's double slit experiment, the width of the one of the slit is three times the other

slit. The amplitude of the light coming from a slit is proportional to the slit-width. Find the
ratio of the maximum to the minimum intensity in the interference pattern.

Options :

70819152307. 4:1
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Question Number : 20 Question Id : 70819115713 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Section Number : 2
Section type: Online
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Mark As Answered Required? : Yes
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Sub-Section Id : 708191867
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 70819115714 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The coefficient of static friction between a wooden block of mass 0.5 kg and a vertical rough

wall is 0.2. The magnitude of horizontal force that should be applied on the block to keep it
adhereto the wallwillbe N,

[g=10 ms~2]

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 21 Question Id : 70819115714 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001



Question Number : 22 Question Id : 70819115715 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

An unpolarized light beam is incident on the polarizer of a polarization experiment and the
intensity of light beam emerging from the analyzer is measured as 100 Lumens. Now, if the
analyzer is rotated around the horizontal axis (direction of light) by 30” in clockwise direction,
the intensity of emerging light willbe __ Lumens.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 22 Question Id : 70819115715 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

gaU WA §aolaYy HYdid TP Iellpl UK 3e 9 fTeiSUNT ey Tseicdl YoM
YAl Al 100 g Aiell. T fAveiyer fEfioremiar e (Yo fgum) 300 T
Yol ¥ YU Hel. AN Usoicdl USRI Eel  gH el

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 23 Question Id : 70819115716 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A ball with a speed of 9 m/s collides with another identical ball at rest. After the collision,
the direction of each ball makes an angle of 30° with the original direction. The ratio of
velocities of the balls after collision is x : i, where x is



Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 23 Question Id : 70819115716 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

9 m/s 9T WIUINT g g1 RO 3¥eicdl MRS dga¥ WEId $dl. HHd HedHaN
Tdd dgdl S8 % f¥EREN 30° B PXd. HEAHGR 99201 9 URR 1y e W

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 24 Question Id : 70819115717 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A hydraulic press can lift 100 kg when a mass ‘m’ is placed on the smaller piston. It can lift
kg when the diameter of the larger piston is increased by 4 times and that of the
smaller piston is decreased by 4 times keeping the same mass ‘m’ on the smaller piston.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText



Possible Answers :

5 to 5.001

Question Number : 24 Question Id : 70819115717 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

ol ‘m’ A TeF Secdldy Sael Il widd Sea 100 kg ST Wb, EM ey 09
eAM m Sdei T 9 W HISH Sccarl A 4 U dIGidell @ ofeH Seedrd 4 U BAl dell
wad kg ] gl

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 25 Question Id : 70819115718 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Ty

An inclined plane is bent in such a way that the vertical cross-section is given by y = a

where y is in vertical and x in horizontal direction. If the upper surface of this curved plane
is rough with coefficient of friction p=0.5, the maximum height in cm at which a stationary
block will not slip downward is ___ (M.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001



Question Number : 25 Question Id : 70819115718 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

3

Wunmmqlmﬁcﬁﬁﬁwaﬂﬁﬁb‘dy=% e el M8 Y y @ v ¥ d x @

fferoremiae fa¥i ame. R @1 dIdfdeicdl Yol YR Eeaeld 3 9 Heul e =05
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 26 Question Id : 70819115719 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A resonance circuit having inductance and resistance 2x10 4H and 6.28 0 respectively
oscillates at 10 MHz frequency. The value of quality factor of this resonator is

[7=3.14]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 26 Question Id : 70819115719 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

YR @ e 3ghH 2104 H 9 6.28 ) 3¥eicdl W TRULRE! d¥aRdl 10 MHz dNaNeH
2o PN . 1 WS U AT [od e, [w=3.14]

Response Type : Numeric



Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 27 Question Id : 70819115720 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

An audio signal v =20 sin 27(1500t) amplitude modulates a carrier
v. =80 sin 27(100,000t).

The value of percent modulation is

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 27 Question Id : 70819115720 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

TS a0 Wb v, =20 sin 2w(1500t) A 1, =80 sin 2w(100,000t) ¥ AEH NG DY
MR cFpbaNY | 3.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001



Question Number : 28 Question Id : 70819115721 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

In connection with the circuit drawn below, the value of current flowing through 2 k()
resistoris  x107% A,

WA
1k

N
2 k() ANEL
/|

10V

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 28 Question Id : 70819115721 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
el SREfdeied] URUGMEEHT, 2 kO YO G g9 @ x 1074 A o).

A
1k

p-
2K 7y

/|

'
10V
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :



5 to 5.001

Question Number : 29 Question Id : 70819115722 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

An electromagnetic wave of frequency 5 GHz, is travelling in a medium whose relative electric
permittivity and relative magnetic permeability both are 2. Its velocity in this medium is
%107 m/s.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 29 Question Id : 70819115722 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

5 GHz dRaR1 f9gd oo T WA W 3. Wl 6N f9Ey Widgae 9 awE
OO TR S8 2 e, W WeW R 9T x107 m/s 3.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 30 Question Id : 70819115723 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



A common transistor radio set requires 12 V (D.C.) for its operation. The D.C. source is
constructed by using a transformer and a rectifier circuit, which are operated at 220 V
(A.C.) on standard domestic A.C. supply. The number of turns of secondary coil are 24, then
the number of turns of primary are

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 30 Question Id : 70819115723 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

ARG CEReY Yelal W8l B HRuaMIel 12 V T8 8RT aF.  IRahd 9 fesean Ry
Q% e IRT 957 TR bl W 220 V (A.C) A emad! 8% Raoad S $al. oY
fgde™ 24 d¢ dmed o WAHe d&dik ¥ 3.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Chemistry Section A
Section Id : 708191588
Section Number : 3
Section type: Online

Mandatory or Optional : Mandatory



Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 80

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 708191868
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 70819115724 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following are isostructural pairs ?
A. S0,22" and CrO,?

B. SiCl; and TiCl,

C. NH; and NO,

D. BCl; and Br(Cl,

Options :

70819152321, ‘4 and B only

70819152322, 4 #nd C only

70819152323, © and Conly

70819152324, © and D only

Question Number : 31 Question Id : 70819115724 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



HleAlcluas! ST SISl THEET= Sisdl 3ed 7

(A) SO,2~ amfr CrO,2 (B) siCl, 3mfuT TiCl,
(C) NH; 3T NO;, (D) BCly 3mfer BrCl,
Options :

70819152321, (A) T (B) Haw

70819152322. {0 Sy 4C) Sead

70819152323, (B) 30T (C) e

70819152324, (O 30T (D) B

Question Number : 32 Question Id : 70819115725 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

In Freundlich adsorption isotherm, slope of AB line is :

B

! f}/

|

logP ——

Options :

n with (n, 0.1 to 0.5)
70819152325.

20819152326, 08 N with (n>1)

Ingl with (n < 1)
70819152327. B



i : p
i with o 0tol
n

70819152328, 1 : 4

Question Number : 32 Question Id : 70819115725 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

hefog ATHTE FHayOlel AB &1 YuEl 3a9 e

B

/

—

X
m

log,

logP ——
Options :

70819152325, ™ { il 0.1 - 0.5)

70819152326, (08 1> 1 S

logL, n <1 3RAM
70819152327.  n

g
o 0T 1 3Fqar

= 5
=N

70819152328.

Question Number : 33 Question Id : 70819115726 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Consider the elements Mg, AL S, P and 5i, the correct increasing order of their first ionization
enthalpy is :

Options :



70819152329, Al <Mg<Si<S<P

70819152330, Mg < Al<Si<P<S

70819152331, Mg <Al<Si<S<P

70819152332, Al <Mg<S5<Si<P

Question Number : 33 Question Id : 70819115726 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Mg, Al, S, P 3101 Si 2 eiwed <& =1 iedl oM I Il SRR dedl o9
9.

Options :

70819152329, Al<Mg<Si<S<P

70819152330, Mg <Al <Si<P<S§

70819152331, Mg <Al<Si<S<P

70819152332, Al<Mg<5<5i<P

Question Number : 34 Question Id : 70819115727 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following ore is concentrated using group 1 cyanide salt ?
Options :

70819152333, Calamine



70819152334, Malachite

70819152335, ~iderite

70819152336. Sphalerite

Question Number : 34 Question Id : 70819115727 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
GAAUD] DIVAT GIJHrEl e 1 Al HEAEe fR du% Hadl diedard ?

Options :

70819152333, 7 IS

]

70819152334, :

70819152335. TSRTEC

70819152336. ;

Question Number : 35 Question Id : 70819115728 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

(A) HOCI+ HEG2 —3 I—IHD F O] 4+ Dz
Choose the correct option.

Options :

70819152337 H,0, acts as oxidising agent in equations (A) and (B).



70819152338 H,0, acts as reducing agent in equations (A) and (B).

20819152339. H,0, act as oxidizing and reducing agent respectively in equations (A) and (B).

20819152340. H,0, acts as reducing and oxidising agent respectively in equations (A) and (B).

Question Number : 35 Question Id : 70819115728 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
(A) HOCI+H,0, — HHD* +C1~+0,
(B) IL,+H,0,+20H™ =21~ +2H,0+0,
TRER TEE faer.

Options:

20819152337, F1202 & (A) 3T (B) &N WG STHSIPNS =0T P Feal.

20819152338, 11202 & (A) o7 (B) & HAIGNUIG &UUPNS T=IH DA HYdl.

0819152339, 1202 & FIHH SGHEORD ST HUDRD LT (A) T (B) FAGRVIT BT Sl

20819152340. HZDZ el JhH HUPNSD 3T SAfTePR g i (A) or (B) HHIRYUMT P Bl

Question Number : 36 Question Id : 70819115729 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

AL O, was leached with alkali to get X. The solution of X on passing of gas Y, forms Z.
X, Y and Z respectively are :
Options :

20819152341, <= NalAl(OH)y], Y=50,, Z=AL0,



70819152342, X=AlOH);, Y=50,, Z=AL0;.xH,0

70819152343, X=AUOH)y, Y=COy Z=AL0;

20819152344, = NalAl(OH)], Y =CO,, Z=Al,03.xH,0

Question Number : 36 Question Id : 70819115729 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

AL, o STREEd fefer hel 3@ar X fiwd. X =01 SEvIqd Y 9 Hieet dl Z TR
A, WX, Y 3T Z SHH 3
Options :
70819152341, X~ NalAlOH)], Y=50,, Z=AL0,

70819152342, X=Al(OH);, Y=50,, Z=Al,0;.xH,0

70819152343, X=AUOH)y, Y=COy Z=AL0;

20819152344, %~ NalAl(OH)], Y =CO,, Z=Al,03.xH,0

Question Number : 37 Question Id : 70819115730 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The electrode potential of M2* /M of 3d-series elements shows positive value for :
Options :

70819152345, Fe

70819152346, CO



70819152347, 21

70819152348, Cu

Question Number : 37 Question Id : 70819115730 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

3d #iRilel W Jeigadrdl M2+ /M geidgre fayardl fdad eq sa d ___ 9.
Options :

70819152345, Fe

70819152346, €O

70819152347, 21

70819152348, Cu

Question Number : 38 Question Id : 70819115731 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The major components in “Gun Metal” are :
Options :

70819152349, Cu, Snand Zn

70819152350, Cu, Zn and Ni

70819152351, Cu, Niand Fe

20819152352, Al Cu, Mg and Mn



Question Number : 38 Question Id : 70819115731 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Al cel I[ETE’I- ;Iﬂ@ L1 L ,341%7:[
Options :
70819152349, C Sn SV Zn

70819152350, S Zn 3T Ni

Cu, Ni 31T Fe
70819152351.

7081915235, A Cu Mg 3T Mn

Question Number : 39 Question Id : 70819115732 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The gas released during anaerobic degradation of vegetation may lead to :
Options:

70819152353, Acid rain

70819152354 Global warming and cancer

70819152355. Corrosion of metals

70819152356, ©zone hole



Question Number : 39 Question Id : 70819115732 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Il aidf-Ruel faggae Wevr 9 B Yol

Options :
70819152353, et A

70819152354, "9l AT T HH

70819152355. L

70819152356. AT

Question Number : 40 Question Id : 70819115733 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following compound gives pink colour on reaction with phthalic anhydride in
conc. H,S0, followed by treatment with NaOH ?

/@/\/ CHs

HO

Options :

70819152357,
70819152358. OH

H3(j :@:\/ CHE-

708191523509. HO 2



HO CH,

SO

CH,
70819152360. :

Question Number : 40 Question Id : 70819115733 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
GTeieie! I §YT A9 H,S0, Heliet dfeid dreggresdiea Sl ¥ NaOH aRIaY el

e ?
Options :

HO
_ OH

70819152357

70819152358
H5C :©:\/ CHj
70819152359, 1O OH
HO CH,
ocT
70819152360, | 1O CHj

Question Number : 41 Question Id : 70819115734 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



CH CH
NeTINCH,

What is the major product formed by HI on reaction with

CH,4
CH,
Options :
CHs
CH, f|h C CH,I
70819152361 CH; H
CHj
CH; —C—CH— CHj
I CH;,
70819152362. :
CH,
CH;—C—CH—CH,
70819152363 CH; 1
CH3 — CH — CH — CH,— CH,
70819152364. - B

Question Number : 41 Question Id : 70819115734 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

CH, CH
">C/ %CHzﬁHIWWWWWWWWW?
CH,

CH,
Options :

70819152361.



CH,

CH;—C—C CH,I

CH; H

CH, T CH—CH,
I

CH,
70819152362. 3
CH,
CH; —C—CH—CHj,4
70819152363, CH; 1
CH, CH CH CH, CH,4
70819152364. kL '

Question Number : 42 Question Id : 70819115735 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Which of the following reagent is used for the following reaction ?
7
CH,;CH,CHy —— CH;CH,CHO
Options :

70819152365, Copper at high temperature and pressure

70819152366. Molybdenum oxide

70819152367, Manganc-sc- aceltate



Potassium permanganate
70819152368.

Question Number : 42 Question Id : 70819115735 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

g fede afafe 3da vmar seameE @eat®! ivar afyfe aers
GILEGI NG

: : ? :
CH,CH,CH; ——> CH,yCH,CHO

Options :

70819152365. gzd dI9A d <ldleil did

70819152366. A |

70819152367.

70819152368, JICRISA TTHTIC

Question Number : 43 Question Id : 70819115736 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The product formed in the first step of the reaction of

Br
|
CH3 —CH,—CH—CH, —CH—CHj; with excess Mg/ELO(Et=C5H:) is :
|
Br

Options :
CH3;—CH;—CH—CH,—CH—CHj

CH;—CH—CHy—CH—CH;—CHy
70819152369. N



CH
cus” | ?
"
CH— CHj

CH,

70819152370.

CH;— CH,—CH— CH,— CH— CH,

CH3;—CHy— CH— CH,— CH—CH;
70819152371. @ 2

MgBr
|

CH3CHy;— CH—CH,—CH—CHj
|

70819152372. MgBr

Question Number : 43 Question Id : 70819115736 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Br

|
Ufeedl TAIRT TR BN $d§ CHy—CH,—CH—CH,—CH—CH, @l fafvad

Br

Mg/Et,O(Et=C,H;) TXMEX Uil dofl a1 S e
Options :

CH;—CH,—CH—CH,—CH—CH,4

CH.— CH—CH,—CH—CH,—CH
708191523609. 3 2 2 3
CH,

cH;—cn |

70819152370. CH— CHj

CH;— CH,—CH— CH,— CH— CH,

CH; —CHy— CH—CH,— CH—CH;
70819152371. 7 z



MgBr
|

CH3CHy— CH—CH,—CH— CH,
|

70819152372. MgBr

Question Number : 44 Question Id : 70819115737 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

What is the final product (major) ‘A’ in the given reaction ?

OH
CHjy
ClH
H\“CI [, —Hd ' A7
(major product)
Options :
€l
CH,
CH
\““CHB
70819152373.
CH,
CH==CH,
70819152374.
CH,
CH
\‘“CH3
70819152375.

70819152376.



CH,

Cl
CH,— CH,

Question Number : 44 Question Id : 70819115737 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Hheflel AfHfh I ¥ded (TE) 99 ‘A’ DIV 38 7

OH
CH;
CI—I\M ]
Options :
&l
CH;
CH
H\“CH:*
70819152373.
CH,
CH=—=CH,
70819152374.
CH;
CH
\"“CI—I3
70819152375.

70819152376.



CH,

Cl
CH,— CH,

Question Number : 45 Question Id : 70819115738 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Identify products A and B.

CH,

ﬂ/ S KMnOy CrO,
273 K > A > B
Options :
CHz CH,
A OH B:
70819152377. OH O
CHa CH,
A OH B: OH
70819152378. OH O
CHj CH,4
Y™ 0C
70819152379. OH O
O 0
[ I
A+ OHC = CHAH.CH:; —C-—CH: B~ HOOC-—CH:.CH:/CH,——C —H
70819152380. e 3 2CHyCH, 3

Question Number : 45 Question Id : 70819115738 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1
SIS A afoT B 3.

CH,
f?T&_*T KN‘II‘I{:};} 3 CI‘C}]
TIK S
Options :
CH, CH,
A OH B:
70819152377, OH O
CH; CH,
A OH B: OH
70819152378. OH O
YT Y
70819152379. o O
O 0

[ I
A OHC —CH-CH-CH,—C—CH-: B : HOOC —CH-CH-CH»—C—CH
70819152380. 222 3 2CH,CH; 3

Question Number : 46 Question Id : 70819115739 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



In the [ Gllnwmg reaction the reason wh}-' miela-nitro product also formed is :

NH, NH, NH, NH,
= NO,
Cone. HNO,
e k T
Conc. H,50,, 288 K
NO,
NO,
[A] [B] [C]
51% 47% 2%
Options :
70819152381, - I\]H?_ group is highly mela-directive
—NO, substitution always takes place at mela-position
70819152382. - g

70819152383. Formation of anilinium ion

low temperature
70819152384.

Question Number : 46 Question Id : 70819115739 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

el BT Fogl IS Fgl TR e BN IS
NH, NH, NH, NH,
dia HNO, . . NO»
MFHS0, 288K
o NO,
NO,
[A] [B] [C]
51 % 47 % Yo
Options :

20819152381, — NHa TIC GUd HeT ¥ 31E



20819152382, — NO, T WA &M FeT Jrat &

70819152383. SATAMSH A= TN gﬂﬂlﬂ&

70819152384. el 3

Question Number : 47 Question Id : 70819115740 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

‘A’ and ‘B’ in the following reactions are :

NH,
NaNO,/HCl SnCl,/HCl/H,0*
e e > (B)
Options :
+ s
N,Cl Cl
(A): (B) :
70819152385.
+ -
N,Cl CHO
(A): (B)
70819152386.
CN Cl
(A) (B) :
70819152387.

70819152388.



CN CHO

(A): (B):

Question Number : 47 Question Id : 70819115740 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Oellad Afufeaidier ‘A7 anfor ‘B 3T,
NH,
NaNO,/HC] SnCl,/HCl/H,O
—_— . — (B)
KCN
Options :
+ e -
N,Cl Cl
70819152385,
+ _
N,Cl CHO
70819152386.
CN il
70819152387.
CN CHO

“Q 0

70819152388.



Question Number : 48 Question Id : 70819115741 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List 1 with List 1I.

List I List 11
(Monomer Unit) (Polymer)
(a) Caprolactum (i)  Natural rubber
(b) 2-Chloro-1,3-butadiene (i) Buna-N
(c) Isoprene (i) Nylon 6
(d) Acrylonitrile (iv) Neoprene

Choose the correct answer from the options given below :
Options :
70819152389, (@) = (1), (b) = (ii), (¢) — (iii), (d) — (iv)

70819152390. (@) — (iv), (b) — (iii), (c) — (ii), (d) — (i)

20819152391, @) = (i), (b) — (i), (¢) — (iv), (d) — (iii)

70819152392. (@) — (iii), (b) — (iv), () — (i), (d) — (ii)

Question Number : 48 Question Id : 70819115741 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
ST 1 ATET 11 906 Sl

pICil| pICigl|
(TPaR®) (agaii)
(a) WUEIgCH (i) e Ex
(b) 2-FelRI-13-FHCrSIE (i) SGI-N
(c) STEEH (iii) I 6
(d) fPeArECSa (iv) TIage

Elefldl WIgiHeT d_EY 9o) Fdel.



Options :
20819152389, (@) = (@), (b) = (ii), (¢) — (iii), (d) — (iv)

20819152390, @ = (v), (b) — (iii), (€) — (i), (d) — (i)

70819152391, (@) — (ii), (b) — (i), () — (iv), (d) — (i)

70819152392. (a) — (iii), (b) — (iv), () — (i), (d) — (ii)

Question Number : 49 Question Id : 70819115742 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Out of the following, which type of interaction is responsible for the stabilisation of a-helix
structure of proteins ?

Options :
70819152393. vander Waals forces

70819152394 Covalent bonding

70819152395. lonic bonding

70819152396, Hydrogen bonding

Question Number : 49 Question Id : 70819115742 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
YA o-Bfcidedl ReRHIS! Tiellciid] SIVET JhREl FUihdl Weeer aHd 7
Options :

70819152393.



70819152395, T F&

70819152396. ; =

Question Number : 50 Question Id : 70819115743 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement I :  Colourless cupric metaborate is reduced to cuprous metaborate in a luminous
flame.

Statement II :  Cuprous metaborate is obtained by heating boric anhydride and copper
sulphate in a non-luminous flame.

In the light of the above statements, choose the most appropriate answer from the options
given below.

Options:

70819152397, Both Statement I and Statement 11 are true

70819152398. Both Statement 1 and Statement 11 are false

70819152399. Statement 1 is true but Statement 11 is false

20819152400. Statement 1 is false but Statement 1l is true

Question Number : 50 Question Id : 70819115743 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



el 3 a8 feerel 3med.
foam1: i ®e Hericy S WkFe #gye HeENeHe] U 3.

fum 11 : PR gcbe o ARe sTergRed SGaH THeledl WINHE qvaed g8
YeRe TR B,

il fauH e Sl WIaMyH a¥iee Fae 9.

Options :

20819152397, STl A€ 1 ST I SRIER 1.

gl fagr 1 3nfor 11 goit 3med.

70819152398.

20819152399, 198 | EXMER & TX{ faaM 1l I 37e.

70819152400.

faur 1 g 38 W faum 11 ey 3.

Chemistry Section B

Section Id : 708191589
Section Number : 4

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5

Section Marks : 20

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 708191869
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 70819115744 Question Type : SA



Correct Marks : 4 Wrong Marks : 0

4.5 g of compound A (MW=90) was used to make 250 mL of its aqueous solution. The
molarity of the solution in M is xx 10 | The valueofxis . (Rounded off to the
nearest integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 51 Question Id : 70819115744 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

250 mL Wl STV 4.5 70 WM A 9 (MW =90) IRl 2d. FMEuIrEr M 981 I
rx10-1 &, x W fhEa 3.

(TR I Viaaeal QUliehTe)
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 52 Question Id : 70819115745 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The coordination number of an atom in a body-centered cubic structure is

[Assume that the lattice is made up of atoms.|
Response Type : Numeric

Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 52 Question Id : 70819115745 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

giel Hex fIffd Jeera AvE Weegie . e
(3M HHW fh SIeie & SUURLT S-iciel 3ME)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 53 Question Id : 70819115746 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A proton and a Li** nucleus are accelerated by the same potential. If Aj; and Ay denote the
de Broglie wavelengths of Li** and proton respectively, then the value of —L& is xx 107,

h}"
Thevalueof xis . (Rounded off to the nearest integer)

[Mass of Li** =8.3 mass of proton]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :



5 to 5.001

Question Number : 53 Question Id : 70819115746 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

W@ fa¥aM 16 WeH S Lid* = $udr R0 B, W Ay S A A S griren

T aFd Lit meaﬁﬁﬂm.m%ﬁﬁmum L 31 7
P

y WG AR (o Qi)

(LE* 9 oA 8.3 WIerd a5gAm)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 54 Question Id : 70819115747 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

For the reaction A, — By, the value of the equilibrium constant at 300 K and 1 atm is equal
to 100.0. The value of &r for the reaction at 300 K and 1 atm in | mol lis — 1R, where 1 is
. (Rounded off to the nearest integer)

[R=831] mol 'K~! and In 10=2.3)
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5to 5.001



Question Number : 54 Question Id : 70819115747 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A = Brgy T AHHUEIET 300 K THH 1 atm 36 JHAH1 Farer fReRidr fHad 1000
e, = AHIHAAS AG T 300 K 999 9 1 atm 1@ 30HT | mol =1 781 f6ad —aR, 19
Y 3@ [R=831]mol K~! & In 10=23] (Sdw [Iid)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 55 Question Id : 70819115748 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

When 9.45 g of CICH,COOH is added to 500 mL of water, its freezing point drops by 0.5°C.
The dissociation constant of CICH,COOH is x x 10 3 Thevalueofxris (Rounded
off to the nearest integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 55 Question Id : 70819115748 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



9.45 g CICH,COOH & 500 mL UV TIdel 3 W@l evia 0.5°C = B 8dl. (ICH,COOH
g1 favor Rejip xx 1073 . IMx A fdma 8. (Kgqnsy=1.86 Kkg mol 1)
(9ol QUi OeR)

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 56 Question Id : 70819115749 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

At1990 K and T atm pressure, there are equal number of Cl, molecules and Cl atoms in the
reaction mixture. The value of K for the reaction LL, _LI under the above conditions
is ¥ x 10~ 1. The value of x is . (Rounded nli]f to tho ncaro-;t integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 56 Question Id : 70819115749 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

1990 K T MO 1 atm 319 SR CL, o U] 31fer C1 30 & ifHfepdran fsmia R
AT Fewae. Cly g = 2C1 ) T UG At TR K, @ 16w xx 107" ae. T
@G e, (Vdown quiem)

Response Type : Numeric

Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 57 Question Id : 70819115750 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
The reaction of sulphur in alkaline medium is given below :
The valuesof ‘a"is (Integer answer)

q)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 57 Question Id : 70819115750 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

HAhYdl AN Aegdne fufear @eil foeiell e,

] 3
g A A fhwa e (quiew )

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :



5 to 5.001

Question Number : 58 Question Id : 70819115751 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Gaseous cyclobutene isomerizes to butadiene in a first order process which has a 'k’ value of
33%10~%s~1at 153°C. The time in minutes it takes for the isomerization to proceed 40% to
completion at this temperatureis . (Rounded off to the nearest integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 58 Question Id : 70819115751 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

I HATAEICITd Al WUIARUl SCTeRAed 2Ivard] Ufhar Y9W PICl 3@d, W k
91 féHd 153°C TUAFIE 3.3% 10451 A8, @R AT & wuideurdl 40% Qi
AFURI 4% min 3.

(o= quiiehT)

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 59 Question Id : 70819115752 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



Number of amphoteric compounds among the following is
(C) Be(OH), (D) Sr(OH),

(A) BeO (B) BaO

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 59 Question Id : 70819115752 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
TS GuEl (ApIche) §gmEr dem

(A) BeO (B) BaO

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

3E.
(C) Be(OH), (D) Sr(OH),

Question Number : 60 Question Id : 70819115753 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



The stepwise formation of [Cu(NH,) 4]2 " is given below :

Cu® + NH; =L= {Cu{NHz;)IET
[Cu(NHa) ¥ + NH; ==2= [Cu(NH,), "
[Cu(NHs), " + NH, [Cu(NH )y [

[Cu(NHs) ¥ + NHy == [Cu(NHg),

The value of stability constants K, K,, K, and K, are 104, 1.58 x10%, 5x 102 and 102
respectively. The overall equihhrmmconqtants for dzqqoaatmn of [Cu(NH,),J** isx x10~ 2,
The value of x is . (Rounded off to the nearest integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 60 Question Id : 70819115753 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
[Cu(NH,),** ¥ PHIR TAN B0 Eeil feefer 2.

+ K +
Cu®* + NHy ==L= [Cu(NH,)

[Cu(NHa) 2" + NH, [Cu(NH), [

P 2 ] 2
[Cu(NH3),|™ + NH; [Cu(NHz)3]

[Cu(NHa)3 ¥ + NHy == [Cu(NHg),

K, K,, K, afor K, & feerioran G agdH 104, 1.58x10% 5x10% 3oy 102 3fred.
[Cu(NH,),|>* =01 Sy0t 1 RuIera wadier feRie x x 1012 &, W x 9 fba
(o Quiie)

Response Type : Numeric



Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Mathematics Section A
Section Id : 708191590
Section Number : 5
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 80
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 708191870
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 70819115754 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

¥

a3 | —

Let f: R — R be defined as f(x)=2x-1and g: R — {I} — R be defined as g(x) =

=i

.
Then the composition function f(g(x)) is :

Options :

70819152411, ©ne-one but not onto



70819152412, onto but not one-one

70819152413 neither one-one nor onto

70819152414. both one-one and onto

Question Number : 61 Question Id : 70819115754 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1
X o
TSR - R & f(x)=2v-1 9 Gl & amfoi g: R - (I} - R ¥ & g(x)= —2,
x— 1
= T‘ﬂ FA. T A (composition) % flg(x)) e,
Options :

70819152411. THH-TF (one-one) ‘ﬂ@ HA=SEH (onto) CIE|

70819152412, FooTS TG THH-TH Tl

70819152413, CHTH-TF U AT A1 A= A0 AR

70819152414, el THiH-UH AN 3AT=Lgl=h Hled

Question Number : 62 Question Id : 70819115755 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Let p and q be two positive numbers such that p + g=2 and p4 | q4= 272. Then p and q are
roots of the equation :
Options :

5.4 y i
70819152415, ¥~ —2x+136=0



2 e L
70819152416, ¥ X 116=0

i I e
70819152417, ¥ 2x+8=0

2 e LD —
70819152418, ¥ 2x12=0

Question Number : 62 Question Id : 70819115755 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
HHSA p A q 71 S 5 (positive) HEA e 54 p +q=2 A p*+ q*=272. Wp MM g

-,

T 7 T Y e

Options :

"

70819152415, ¥~ 2x 1136=0

2 e L
70819152416, ¥ 22X 116=0

i I e
70819152417, ¥ 2x+8=0

2 e LD —
70819152418, 2x12=0

Question Number : 63 Question Id : 70819115756 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The system of linear equations
3x—2y—kz=10
2x —4y—2z=6
x+2y—z=50m

is inconsistent if :

Options :

70819152419.

k=3 m=
70819152420.

U] e

k=3 mz#
70819152421.

0| He

£ 3
70819152422, & %3 meR

Question Number : 63 Question Id : 70819115756 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
dx—2y—kz=10
2x—4y-2z=6
x+2y-z=5m

I T (linear) FHIHOTE TUTeH (system) FHTH T (inconsistent) HTE 5

Options :

70819152419.

k=3 m=
70819152420.

1| o=



1] d=

k=3 m=+
70819152421.

-t

+3
70819152422. k#3 meR

Question Number : 64 Question Id : 70819115757 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The value of

15{:1 | 2'15{:2 3'15{:3 LD 15'15{:]5 { MC] { HC3 { 14{:5 o o 14(:11 IS :
Options :
~16 1
70819152423, =

70819152424, 217 14

70819152425, 2'° 13

~14
70819152426. =

Question Number : 64 Question Id : 70819115757 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

B, + 250, — 3590, § - — 15590 + Y0, + Yo, 3 M0 3 -t Y0y TN
Options:
~16 1
70819152423. <

70819152424, 217~ 14



70819152425, 217 13

=14
70819152426. =

Question Number : 65 Question Id : 70819115758 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

i 4 P s .
|\'i!‘.‘i'.‘{h‘1.‘:‘i T+ xt.. "‘“1.‘1-',?

If e satisfies the equation t2-9t+8=0, then the value of

2siny m) .
W X i AV 0{.1'{_ 15 :
sinx+ y3cosx

Options :

M| =

70819152427.

70819152428. V3

<1E

70819152429.

70819152430.

Question Number : 65 Question Id : 70819115758 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

e 4 6 | ;
[cos™x+cas” x+cos xt, o loged

W e T 2-0t48=0 = FEEHLH YH FW, W

2sinx

.

sinx+ y3cosx\ 2



Options :

M|

70819152427.

70819152428. V3

K| L

70819152429.

=]
<
:_ﬁ;.'l

70819152430.

Question Number : 66 Question Id

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

J[.‘-in\."'t-:] dt

- 0 .
lim =————— isequal to:
x—0 x

Options :

W

70819152431.

*IE"Y

70819152432.

1
70819152433, 12

70819152434. 0

Question Number : 66 Question Id

Is Question Mandatory : No

: 70819115759 Question Type : MCQ Option Shuffling : Yes

: 70819115759 Question Type : MCQ Option Shuffling : Yes



Correct Marks : 4 Wrong Marks : 1

T ; >
J[_Hilwq | dt

limL— =R - |-

1413 I'{ ' PRl e L R b

Options:

W N

70819152431.

N0

70819152432.

1
70819152433, 15

70819152434,

Question Number : 67 Question Id : 70819115760 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

3 2
g 4x 3x .
The function f(x)= —— — 2sinx+ (2x— 1) cosx :

Options :

1
INcreases in [;r )

70819152435.

1
decreases in | - ™

2

70819152436.

1
INCreases in [ g

-2

70819152437.

70819152438.



1
decreases in [ o

I3

Question Number : 67 Question Id : 70819115760 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
f(x) = = = _2gnx4 (2x — 1) cosx T A :
Options :

-

1 .
[—, ""J HE] 912l (increases) HTE.

9
70819152435, ~
[1 , :
5 % | A% H (decreases) 3TE.
70819152436. -~
1 = =
m'.; HY dledl HAle.
70819152437. Z
']' = =
P | T N S
70819152438. i

Question Number : 68 Question Id : 70819115761 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A scientific committee is to be formed from 6 Indians and 8 foreigners, which includes at
least 2 Indians and double the number of foreigners as Indians. Then the number of ways,

the committee can be formed, is :
Options :

70819152439, 1050



70819152440, 1022

70819152441, 960

70819152442, 575

Question Number : 68 Question Id : 70819115761 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

T YT | (scientific committee) 6 SRAE (Indians) 018 T a]ﬁ{fnreigner%j RIE2
H@WW 3R, S A FHA FH 2 WWWWW Tl S AR, T
%1 Wi il S TR FE T A= e e,

Options :
70819152439, 1050

70819152440, 1022

411

70819152441, 260

70819152442, 575

Question Number : 69 Question Id : 70819115762 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

=
[ff:R — Ris afunction defined by f(x)=[x 1] cos[ A

1
Jrr , where [] denotes the greatest
.

2

integer function, then fis :

Options :



70819152443, discontinuous only at x=1

discontinuous at all integraI values of x except at x=1

70819152444,

70819152445, continuous only at x=1
continuous for every real x

70819152446. 2

Question Number : 69 Question Id : 70819115762 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

W f:R-=R T UF Wl e 'Hﬁmf%f{l)=[1 ljcns{ 5 ] ]" b '] T HeT ‘{Uﬁ?ﬁ el

.‘

(greatest integer function) T, G SRIA Ferel Fe S wf__ SR

Options :
70819152443, P x=173% A (discontinuous) e,

0819152444, ¥=1 T x =0 T YUIF (integral) T = 3T e

70819152445, Tad x=1 I Haq 3re.

70819152446, Ji® Add x WSl WAd Hle.

Question Number : 70 Question Id : 70819115763 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



. fCOSX — SINX . —q[sinx+ cosx)
[f |—————="1dx = asin J—

— t ¢, where ¢ is a constant of integration, then
V8 — sin 2x \ b )

the ordered pair (a, b) is equal to :
Options :

70819152447, & 1)

70819152448, (1 3)

70819152449, (1 3)

'.‘
70819152450. L

Question Number : 70 Question Id : 70819115763 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

R J‘Mm - ﬂSiI‘I_I[M b ¢ WY ¢ ¥ HFEAE #9a (constant of
V8~ sin2x _ b )

integration) e, T (a, b) =1 HIHA EIE| (ordered pair) TR AR

Options :

70819152447, & 1)

70819152448, (1 3)

70819152449, (1 3)

(I, —3)

70819152450.

Question Number : 71 Question Id : 70819115764 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

The area (in sq. units) of the part of the circle x> +1?>=36, which is outside the parabola

yz =0, is :

Options:

70819152451, 247 + 333

70819152452, 247 ~ 3V3

70819152453, 127 + 343

21 "rﬁ

—

70819152454,

Question Number : 71 Question Id : 70819115764 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
x2 +y2=36 T TG A e (. The W) I, W y2=9x T S
(parabola) =1 B ElEG| .

Options:

70819152451, 247 + 33
70819152452, 24T — 3\3

70819152453, 127 + 33

<
2
(e
<

70819152454.

Question Number : 72 Question Id : 70819115765 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

The population P=P(t) at time ‘t’ of a certain species follows the differential equation

dp
i 0.5P — 450. If P(0) =850, then the time at which population becomes zero is :

Options :

log 9
70819152455, oe

1
5 log,18
70819152456. ~

loe 18
70819152457,  oe

EIDBF 18
70819152458. :

Question Number : 72 Question Id : 70819115765 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

‘31_[’ = 0.5P — 450 A1 faeerah (differential ) HHTEHOIC SH&A U fafeme grvarsan st (species)
i

AFEE 9%t SHAE P=P(t) ¥R, W P(0)=850, T AFIE Y= TR AN 95

Options :

log 9
70819152455, oe

1
;IogFlS
70819152456. ~

log 18
70819152457, Pe

EIDBP 18
70819152458, '



Question Number : 73 Question Id : 70819115766 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A man is walking on a straight line. The arithmetic mean of the reciprocals of the intercepts

- l Y
of this line on the coordinate axes is 1 Three stones A, B and C are placed at the points

(I, 1), (2, 2) and (4, 4) respectively. Then which of these stones is/are on the path of the

man ?
Options :

70819152459, * only

70819152460, © Pl

C onl
70819152461.

70819152462, All the three

Question Number : 73 Question Id : 70819115766 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

T A T (straight) YAt e A6, 0 &4 (coordinate axes) AT 1 oA HATEE]
i = 3 i K ca
(intercepts) =41 S (reciprocal) =1 UM H¥A (arithmetic mean) 1 #E. A, BAMC 2 dH

TTE ATFA (1, 1), (2, 2) S (4, 4) =1 Feiget 96t oM. T 1 VTS 1R &0 STE S/
e /

Options :

70819152459, T A

70819152460, 10 B



70819152461.

70819152462, T4 @1

Question Number : 74 Question Id : 70819115767 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The locus of the mid-pnint of the line segment joining the focus of the parabo[a yz =daxtoa

moving point of the parabola, is another parabola whose directrix is :
Options:

70819152463, * =42

X =
70819152464.

ba |

70819152465, * ~

da
70819152466. 2

Question Number : 74 Question Id : 70819115767 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
y?=dax I F=EA (parabola) T4 (focus) &1 SrEwFy w@er=a #=AfEg 9 FUA (locus)

s TR faeFe S Shaar Sl U SR AR S S (directrix)
EiIid

Options:

70819152463, * =4



a

X= - —

70819152464, 2
70819152465, ¥ =Y
a
xX=—
70819152466. 2

Question Number : 75 Question Id : 70819115768 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

If the tangent to the curve y=13 at the point P(t, t%) meets the curve again at Q, then the

ordinate of the point which divides PQ internally in the ratio 1 : 2 is
Options :

70819152467.

70819152468. <*

708191524609.

70819152470. =

Question Number : 75 Question Id : 70819115768 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

W P(L, ) A g y=27 71 w1 S TR TR (again) Q W Hed, T W fag PQ

HATA (internally) 1: 2 &1 FmNd fasemdl, @ fagel #e (ordinate) HE,

Options :

70819152467. 0



70819152468.

t._‘i
70819152460.
70819152470, 2

Question Number : 76 Question Id : 70819115769 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The equation of the plane passing through the point (1, 2, ~3) and perpendicular to the

planes 3x+y—2z=5and 2x-5y-z=7, is :
Options :

70819152471, 60X 5y +2z+10=0

Ilx+y+17z+38=0

70819152472,

3 .
70819152473, 0% Y 2 0

_ g
70819152474, 2% 10y -2z +11=0

Question Number : 76 Question Id : 70819115769 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

(1,2, -3) 1 fag AYA SOW A0 3x+y—22=5 0 205y —z=7 & TqeAN e A
yaeE T AR

Options :

70819152471, 06X 5y +2z+10=0



11x+y+ 17z +38=0

70819152472.
X I
70819152473, 0% Y 2 0
. j"" —
70819152474, %~ 10y—2z+11=0

Question Number : 77 Question Id : 70819115770 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The distance of the point (1, 1, 9) from the point of intersection of the line

X E:y 4:z
1 )

F =

and the pIane x+ytz= 17 is

Options :

70819152475, 2319
70819152476, 192

70819152477, V38

70819152478. I8

Question Number : 77 Question Id : 70819115770 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

. x-3 y-4 g-5 Fis . S S ey 3

S J? = —— A WA x +y+2z=17 A=A BT TG (1, 1, 9) A FagH R
_ .

Options :

70819152475, 2319



70819152476, 192

70819152477, V38

70819152478, 8

Question Number : 78 Question Id : 70819115771 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

An ordinary dice is rolled for a certain number of times. If the probability of getting an odd
number 2 times is equal to the probability of getting an even number 3 times, then the

probability of getting an odd number for odd number of times is :

Options :

70819152479.

70819152480.

it
sl

70819152481.

.
70819152482, 2

Question Number : 78 Question Id : 70819115771 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



e Jo1El TF FHA F@ (ordinary dice) FFall (rolled) #E. SR 2 Fa1 fawd Hem
vt 9= 3 99 T 9 ems Sy e R, T A e geaet faum

T Tl e (probability) EId

Options :

70819152479. -

70819152480.

70819152481, 16

1
70819152482, 2

Question Number : 79 Question Id : 70819115772 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Two vertical poles are 150 m apart and the height of one is three times that of the other. If
from the middle point of the line joining their feet, an observer finds the angles of elevation of

their tops to be complementary, then the height of the shorter pole (in meters) is :
Options :

70819152483.

70819152484, >0

70819152485, 20V3

70819152486, 29V3



Question Number : 79 Question Id : 70819115772 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

2 3 4 150 m ST AEq A0 T @A) 9 g9 are 39 Uh 3 T AR SO0
i =18 TIYel i 1 W= WA SR O 99 45 @i #3906 (elevation)

»,

%M 9 TF (complementary) #12, T &M @At 391 (FA A7) 3R
Options:

70819152483.

70819152484, >0

70819152485, 203

70819152486.

Question Number : 80 Question Id : 70819115773 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The statement among the following that is a tautology is :

Options :

70819152487, 4~ (A Vv B)

70819152488, * ¥ (A~ B)

70819152489, | A~ (A—=B)]—B

70819152490, © LA (A= B)]

Question Number : 80 Question Id : 70819115773 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Gl feetedn AgiEmE Fafae A9 STAM (tautology) faem

Options :
70819152487, 4 (A v B)
70819152488, * ¥ (A" B)

70819152489, [ A~ (A—=B)]—=B

70819152490, © LA (A= B)]
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Question Number : 81 Question Id : 70819115774 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

708191591
6

Online
Mandatory
10

5

20

Yes

1
708191871

Yes



If the least and the largest real values of «, for which the equation z+ «z—1|+2i=0
(z¢C and 1 =l\f_1] has a solution, are p and q respectively; then 4{p3 | qzj is equal to
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 81 Question Id : 70819115774 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

T o 1 T (least) Wﬁﬁﬂargest]%@ﬂﬁﬁp g FMed. SR 2+ afz -1 +2i=0

\‘

{zec:aqrﬁrn?ﬁjmﬁmwaﬁﬁﬂﬂﬁ,mdx(phqzjafm_ R,

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 82 Question Id : 70819115775 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Let B, (i=1, 2, 3) be three independent events in a sample space. The probability that only
B, occur is o, only B, occurs is  and only B, occurs isy. Let p be the probability that none of

the events B; occurs and these 4 probabilities satisfy the equations («—2) p=«f} and

P(By)

(B~ 3y) p=2v (All the probabilities are assumed to lie in the interval (0, 1)). Then D(B,) is

r_-qual to



Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 82 Question Id : 70819115775 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

HHS B, (i=1, 2, 3) T TN HTHW (sample space) AU T W T AR F B, A

HAE (probability) o e, e B, = Y= § HAreecl AN T B, = H

y Sl WA p & B, W FIKAIEl HeN HAGwel THATHl WA AR, A A 4 HHEH

(a—28) p=ap FAMW (B~ 3y) p=2py & AN Til FOA. (F 4= (0, 1) A Hawen
RN L PR - | | ;

Hite -Waﬁmwm}.mmﬂ ERES IR,

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 83 Question Id : 70819115776 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

3 -1 =2
Let P=|{2 0 «f, where acR. Suppose Q=[ g;] is a matrix satisfying PQ =XkI, for
3 -5 0
k 2 N 1B,
some non-zero ke R. If 3= E and Q = 5 thena~t+k“isequalto



Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 83 Question Id : 70819115776 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

3 -1 -2
T P=|2 0 a| 9 ac R TMQ=| q; ] A PQ=kI, FE YW (non-zero)
3 -5 0
[ ol = . k . ]Z\2 7 " = =
ke R HEl Tl 4 M. W qu= -2 AMQ| = —, Wl +IP TR __ oM

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 84 Question Id : 70819115777 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Let M be any 3 x3 matrix with entries from the set {0, 1, 2}. The maximum number of such

matrices, for which the sum of diagonal elements of MM is seven,is .
Response Type : Numeric
Evaluation Required For SA : Yes

Show Word Count: Yes



Answers Type : Range
Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 84 Question Id : 70819115777 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
T M FIET 3 3 ARV T8 T 92 (0, 1, 2) 71 Hameia oed. 3190 GRoi=t S s
e \ﬂﬁ»' = gt MM =11 fasmt (diagonal) TIFHE T 7 AR,

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 85 Question Id : 70819115778 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Let A={neN:nisa3-digit number }

B:{Qk F2 kEN}
and C={9%+]: keN}forsomel (0<1<9)
If the sum of all the elements of the set A m (B C) is 274 < 400, then[isequalto .

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001



Question Number : 85 Question Id : 70819115778 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

THA A={neN : n 3 3-3F T&A AR |

B={9%+2: ke N}

Ffm C={9k+1: keN} Fiel [ (0<1<9) T

W AN (Bu C) T HEH UE Tkl o0 274 x 400 N, WITWR
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 86 Question Id : 70819115779 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

o K 1
The minimum value of « for which the equation ins | e has at least one

' J_T‘.
solution in ' 0, —| is .
i 2)’

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 86 Question Id : 70819115779 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



i . 4 1 n o
o 9 TFAA I (minimum value) 36, SATHE] = | ¥ = o I THHOME]

|fu, ;| 1 4 FHG FH TF I AR,
2

\

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 87 Question Id : 70819115780 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

d
If I{x Fx = 2))dx = 22, (a > 2) and [x] denotes the greatest integer < x,
d

then _[(x t[x])dx isequalto .

a
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 87 Question Id : 70819115780 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



T _[{ x|+ |x = 2)dx = 22, (a>2) #AM[x] 2 x Ty Tan WWW(groatest integer)
—d

d
.

e, W[ (x + [x]) de R e,

a
Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 88 Question Id : 70819115781 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

If one of the diameters of the circle % yz 2x— 6y +6=0 is a chord of another circle ‘C’,

whose center is at (2, 1), then its radius is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 88 Question Id : 70819115781 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

a2 If 2x—6y +6= mem{dmnﬂerq]ﬁﬁ@aﬂmwmt I iE|
(hord)ﬂl’b’ Wﬁmﬁﬁﬂ center) ( 2,1)31341"6’ ﬂIF’JﬁTTﬁﬂT __ 3%’

Response Type : Numeric



Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 89 Question Id : 70819115782 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

- = — o i . e e e
Let three vectors a, b and ¢ be such that ¢ is coplanar with 3 and b, 3 - ¢ =7 and
— —3 —3 " ) ’ A — .’: A
b is perpendicular to ¢, where a =1 + j 4 k and b =2i + k, then the value of

— — ="

2a+b+c| B

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 89 Question Id : 70819115782 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

THE 4, b AN ¢ # A AW R T H o M b R ¢ T Feid (coplanar) A,
;-E}:;’ Wg%zﬂﬁq(perpendmulm] AR, AT 2 = i ; Fk @ b = 27 4 L,

4
»,

AT W’

M Z‘a +b+
Response Type : Numeric

Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 90 Question Id : 70819115783 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

n i k!
. - 1
lim tan JE Lan 1l Fey—— |> isequal to .
n—so = 1+ r+r1 ,-'I

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 90 Question Id : 70819115783 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

J” i I 1 ‘\.L
lim tan { Y tan 1|—| Gt - -3

n—o e \1+r+ 1)
Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001



